Triangle Inequality Theorem

The sum of the lengths of any Two sides of a triangles

AB+BC>____
AC+BC>____
AB+AC> .

Example *#:
Can the sides form a triangle?
5 cm, 7 cm, and Hem

You Try:
) Can The sides form a friangle”?
6 £1,10 £1,and 5 ft

3) Can the sides form a friangle?
71n,12in, and 81in

Example #3

Name a possble third side of a
friangle If ifs ofher two sides have
measures of I7 and 9.

Example #2:
Can the sides form a friangle?
Iin, 310, and 7 in

2) Can the sides form a friangle?
5in, 8in, and 29 in

4) Can the sides form a friangle?
I00 mi, 100 mi, and 8 mi

You Try:

Name a possible third side of ¢
triangle If its other two sides have
measures of |2 and 8.




Name: Date:

Triangle Inequality Theorem

Defermine it The sefs of numbers below can form a Iriangle. Math proof must
be shown in order 7o recelve cred.

D 1Zin,6,1n, BN D5 FL B 1,25 f1

3) Imi,5ml, 6 mi 4 12 em, 5 em, 10 cm
5) 8 km, 8 km, and IZ km &) Hmm, 5 mm, 10 mm
7) 32 £ £1, 2 Ft 8 3in.Hin, 8in

Name a possible third side of a friangle given Two sides.
D 0in, 23in 0) 17 mm, HO mm

D 2in 310 12) Hcm, b cm



